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1. | 28xy 2. | 359996
3. | —4 4. | ¥3-1
2
5. | (x+9)(x-1) 6. | (x—2y)?
7. | —a(x+3)(x-1) 8. | x=-3+6
9. | x=2%+/5 10. | 100°
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1. | A=x+2 2. | E 152 5T o
3. |11 4=13 4. | ZEAF=45"
5. | 3<BC<19 6. | CD>DA>BC>AB
7. | x=10 8. | x=12
9. | BC=8 24 10. | zB=92"
11. | £3=160" 12. | AC+CD=30 = »
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(1) AABC 5 %= & )
(2) «B=~C
(3) AADB 4= AADC ¢
Z1= 22
AB=AC
/B=~C
(4) AADB = AADC
(5) BD=CD & ZADB= ZADC
(6) ZADB+ ~£ADC= ~BDC=180"
(7) ZADC+ £ADC=180"
(8) ~ADC=180"+2=90"
(9) #12 AD 1 BC
(10) #+BD=CD & AD1BC
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A sl=242
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d(3) ASA=Z4323 230
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deB(4)#F7 »B-D-Cz2am & T &5 180°
#-(5) ZADB= ~<ADC = % #* ~(6) ZLADB+ £ADC=180"
d (T)f% 2ADC 2. &
d (8) ZADC=90"= #
4 (5) BD=CD =% & (9) ADLBC = #
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